

A NOTE ON JORDAN–VON NEUMANN CONSTANT FOR $Z_{p,q}$ SPACE

CHANGSEN YANG

(Communicated by J. Pečarić)

Abstract. Let $\lambda > 0$, $Z_{p,q}$ denote \mathbb{R}^2 endowed with the norm

$$\|x\|_{p,q} = (\|x\|_p^2 + \lambda \|x\|_q^2)^{\frac{1}{2}}.$$

Recently, von Neumann-Jordan constant $C_{NJ}(Z_{p,q})$ have been investigated under the two cases of a space $2 \leq p \leq q \leq \infty$ and $1 \leq p \leq q \leq 2$. For the case of $1 \leq p < 2 < q \leq \infty$, we only have shown an inequality on the constant. In this note, the exact value of the Jordan-von Neumann constant about this case is investigated.

1. Introduction and preliminaries

Let X be a non-trivial Banach space, and B_X and S_X denote the unit ball and unit sphere of X , respectively. Many geometric constants for a Banach space X have been investigated.

The von Neumann-Jordan constant (hereafter referred to as the NJ constant) of a Banach space X was introduced by Clarkson [2] as the smallest constant C for which

$$\frac{1}{C} \leq \frac{\|x+y\|^2 + \|x-y\|^2}{2(\|x\|^2 + \|y\|^2)} \leq C$$

holds for all $x, y \in X$ with $(x, y) \neq (0, 0)$. An equivalent definition of the NJ constant is found in [6, 10] as the following form:

$$C_{NJ}(X) = \sup \left\{ \frac{\|x+y\|^2 + \|x-y\|^2}{2(\|x\|^2 + \|y\|^2)} : x \in S_X, y \in B_X \right\}.$$

The following constant $C'_{NJ}(X)$, called the modified von Neumann-Jordan constant was introduced by Gao and Lau in [4]

$$C'_{NJ}(X) = \sup \left\{ \frac{\|x+y\|^2 + \|x-y\|^2}{4} : x, y \in S_X \right\}.$$

It is well known that $C'_{NJ}(X)$ doesn't necessarily coincide with $C_{NJ}(X)$ [1, 3, 5].

Mathematics subject classification (2010): 46B20.

Keywords and phrases: Jordan-von Neumann constant, $Z_{p,q}$ space, absolute normalized norm.

This work is supported by the NNSF of China (Nos. 11201127, 11271112) and IRTSTHN (14IRTSTHN023).

Recall that a norm $\|\cdot\|$ on \mathbb{R}^2 is said to be absolute if $\|(x,y)\| = \|(|x|,|y|)\|$ for arbitrary $(x,y) \in \mathbb{R}^2$, and to be normalized if $\|(1,0)\| = \|(0,1)\| = 1$.

Let $\lambda > 0$, and $Z_{p,q}$ denote \mathbb{R}^2 endowed with the norm

$$\|x\|_{p,q} = (\|x\|_p^2 + \lambda\|x\|_q^2)^{\frac{1}{2}},$$

then by the definition, it is clear that $\|\cdot\|_{p,q}$ is absolute and $\|\cdot\|_{p,q} =: \frac{\|\cdot\|_{p,q}}{\sqrt{1+\lambda}}$ is an absolute normalized norm.

Let Ψ_2 denote the family of all continuous convex function ψ on $[0,1]$ such that $\psi(0) = \psi(1) = 1$ and $\max\{1-t, t\} \leq \psi(t) \leq 1$. It is well known that the set of all absolute normalized norm on \mathbb{R}^2 and Ψ_2 are in a one-to-one correspondence under the equation $\psi(t) = \|(1-t, t)\|$ [7, 9].

Recently, the exact values of NJ constant $C_{NJ}(Z_{p,q})$ under the cases of $2 \leq p \leq q \leq \infty$ and $1 \leq p \leq q \leq 2$ have been given as follows [12].

(i) If $2 \leq p \leq q \leq \infty$, then

$$C_{NJ}(Z_{p,q}) = \frac{2(\lambda+1)}{2^{\frac{2}{p}} + \lambda 2^{\frac{2}{q}}}.$$

(ii) If $1 \leq p \leq q \leq 2$, then

$$C_{NJ}(Z_{p,q}) = \frac{2^{\frac{2}{p}} + \lambda 2^{\frac{2}{q}}}{2(\lambda+1)}.$$

For the case of $1 \leq p \leq 2 \leq q \leq \infty$, we have the following inequalities on $C_{NJ}(Z_{p,q})$ [11].

THEOREM 1.1. *Let $\lambda > 0, Z_{p,q} = \mathbb{R}^2$ endowed with the norm*

$$\|x\|_{p,q} = (\|x\|_p^2 + \lambda\|x\|_q^2)^{\frac{1}{2}}.$$

If $1 \leq p \leq 2 \leq q \leq \infty$, then

$$\max \left\{ \frac{2(\lambda+1)}{2^{\frac{2}{p}} + \lambda 2^{\frac{2}{q}}}, \frac{2^{\frac{2}{p}} + \lambda 2^{\frac{2}{q}}}{2(\lambda+1)} \right\} \leq C_{NJ}(Z_{p,q}) \leq \frac{2^{\frac{2}{p}} + 2\lambda}{2^{\frac{2}{q}}\lambda + 2}.$$

In this note, we consider the exact values of von Neumann-Jordan constants under the case of $1 \leq p < 2 < q \leq \infty$.

2. Main results and proofs

Before giving of our main results, we have the following Lemmas first.

LEMMA 2.1. *If $1 \leq p < 2 < q < \infty$, then*

$$\frac{(2-p)2^{\frac{2}{p}}}{(q-2)2^{\frac{2}{q}}} < \frac{2^{\frac{2}{p}} - 2}{2 - 2^{\frac{2}{q}}}.$$

Proof. We only need to show that

$$(2-p) + (q-2)2^{\frac{2}{q}-\frac{2}{p}} - (q-p)2^{\frac{2}{q}-1} < 0.$$

Now letting $f(p) = (2-p) + (q-2)2^{\frac{2}{q}-\frac{2}{p}} - (q-p)2^{\frac{2}{q}-1}$, we have

$$f'(p) = -1 + (q-2)2^{\frac{2}{q}-\frac{2}{p}} \frac{2 \ln 2}{p^2} + 2^{\frac{2}{q}-1},$$

and

$$f''(p) = (q-2)2^{\frac{2}{q}-\frac{2}{p}} \frac{4 \ln 2}{p^4} (\ln 2 - p) < 0.$$

Hence

$$f'(p) > f'(2) = \frac{1}{4}[-4 + 2^{1+\frac{2}{q}} + 2^{\frac{2}{q}}(q-2) \ln 2].$$

Assume that $h(q) = -4 + 2^{1+\frac{2}{q}} + 2^{\frac{2}{q}}(q-2) \ln 2$, and we have $h'(q) = 2^{\frac{2}{q}} \frac{(q-2) \ln 2}{q^2} (q+2-2 \ln 2) > 0$, so $h(q) > h(2) = 0$. Therefore, $f'(p) > 0$ and $f(p) < f(2) = 0$. \square

LEMMA 2.2. *If $1 \leq p < 2 < q < \infty$ and $v > 1$, then*

(i) $(2-p)(1+v^q)(1-v^{2-q}) - (q-2)(1+v^p)(v^{2-p}-1) > 0$;

(ii) $J(v) \equiv \frac{(1+v^p)^{\frac{2}{p}-1}(v^p-v^2)}{(1+v^q)^{\frac{2}{q}-1}(v^2-v^q)}$ is increasing on $(1, +\infty)$ and $J(v) > \frac{(2-p)2^{\frac{2}{p}}}{(q-2)2^{\frac{2}{q}}}$.

Proof. (i) Letting $F_v(t) = v^t - v^{2-t}$ and for any $v > 1$ to be fixed, we can easily prove that $F_v(t)$ is a convex function of t . So we have

$$\frac{F_v(q) - F_v(2)}{q-2} > \frac{F_v(2) - F_v(p)}{2-p}$$

for $1 \leq p < 2 \leq q < \infty$. Therefore (i) is valid.

(ii) Since $J(v) = \frac{(1+v^p)^{\frac{2}{p}-1}(v^p-v^2)}{(1+v^q)^{\frac{2}{q}-1}(v^2-v^q)}$ and (i), we have

$$\begin{aligned} J'(v) &= \frac{(1+v^p)^{\frac{2}{p}-2}}{(1+v^q)^{\frac{2}{q}}} (1-v^{q-2})^{-2} \{ (1+v^q)(1-v^{q-2}) [(2-p)(v^{2p-3}-v^{p-1}) \\ &\quad + (1+v^p)(p-2)v^{p-3}] - (1+v^p)(v^{p-2}-1) [(2-q)v^{q-1}(1-v^{q-2}) \\ &\quad - (q-2)v^{q-3}(1+v^q)] \} \\ &= \frac{(1+v^p)^{\frac{2}{p}-2}}{(1+v^q)^{\frac{2}{q}}} (1+v^2)(v^2-v^q)^{-2} v^{p+q-1} [(2-p)(1+v^q)(1-v^{2-q}) \\ &\quad - (q-2)(1+v^p)(v^{2-p}-1)] > 0. \end{aligned}$$

Hence $J(v)$ is increasing and $J(v) > \lim_{v \rightarrow +1} J(v) = \frac{(2-p)2^{\frac{2}{p}}}{(q-2)2^{\frac{2}{q}}}$. \square

LEMMA 2.3. [8, 9] Let $\psi \in \Psi_2$ and let $M_1 = \max_{0 \leq t \leq 1} \frac{\psi(t)}{\psi_2(t)}$ and $M_2 = \max_{0 \leq t \leq 1} \frac{\psi_2(t)}{\psi(t)}$.

(i) Assume that $\psi \geq \psi_2$. Then $C_{NJ}(\|\cdot\|_\psi) = \max_{0 \leq t \leq 1} \frac{\psi(t)^2}{\psi_2(t)^2}$.

(ii) Let $\psi \in \Psi_2$ and let $\psi(t) = \psi(1-t)$ for all $t \in [0, 1]$. If ψ/ψ_2 attains a maximum or a minimum at $t = 1/2$, then $C_{NJ}(\|\cdot\|_\psi) = M_1^2 M_2^2$.

(iii) Let $\psi \in \Psi_2$ and let $\psi(t) = \psi(1-t)$ for all $t \in [0, 1]$. If ψ/ψ_2 attains a maximum at $t = 1/2$, then $C_{NJ}(\|\cdot\|_\psi) = C'_{NJ}(\|\cdot\|_\psi) = M_1^2 M_2^2$.

Now, we prove the following equalities on $C_{NJ}(Z_{p,q})$.

THEOREM 2.1. Let $\lambda > 0$, $1 \leq p < 2 < q < \infty$ and let $Z_{p,q} = \mathbb{R}^2$ endowed with the norm

$$\|x\|_{p,q} = (\|x\|_p^2 + \lambda \|x\|_q^2)^{\frac{1}{2}}.$$

(i) If $0 < \lambda \leq \frac{(2-p)2^{\frac{2}{p}}}{(q-2)2^{\frac{2}{q}}}$, then

$$C_{NJ}(Z_{p,q}) = C'_{NJ}(Z_{p,q}) = \frac{2^{\frac{2}{p}} + \lambda 2^{\frac{2}{q}}}{2(1 + \lambda)}. \tag{2.1}$$

(ii) If $\frac{(2-p)2^{\frac{2}{p}}}{(q-2)2^{\frac{2}{q}}} < \lambda \leq \frac{2^{\frac{2}{p}} - 2}{2 - 2^{\frac{2}{q}}}$, then

$$C_{NJ}(Z_{p,q}) = \frac{(1 + v^p)^{\frac{2}{p}} + \lambda(1 + v^q)^{\frac{2}{q}}}{(1 + \lambda)(1 + v^2)}, \tag{2.2}$$

where v is the unique solution of the following equation

$$\lambda = \frac{(1 + v^p)^{\frac{2}{p}-1}(v^2 - v^p)}{(1 + v^q)^{\frac{2}{q}-1}(v^q - v^2)}. \tag{2.3}$$

(iii) If $\frac{2^{\frac{2}{p}} - 2}{2 - 2^{\frac{2}{q}}} \leq \lambda < \infty$, then

$$C_{NJ}(Z_{p,q}) = \frac{2[(1 + v^p)^{\frac{2}{p}} + \lambda(1 + v^q)^{\frac{2}{q}}]}{(2^{\frac{2}{p}} + \lambda 2^{\frac{2}{q}})(1 + v^2)},$$

where v is also the unique solution of the equation (2.3).

Proof. Letting $f(u) = \frac{(1+u^p)^{\frac{2}{p}} + \lambda(1+u^q)^{\frac{2}{q}}}{1+u^2}$ for $u \in (0, 1]$ and $w = \frac{1}{u}$, we have

$$f'(u) = \frac{2u}{(1+u^2)^2} \{ (1+u^p)^{\frac{2}{p}-1}(u^{p-2} + u^p) + \lambda(1+u^q)^{\frac{2}{q}-1}(u^{q-2} + u^q) - (1+u^p)^{\frac{2}{p}} - \lambda(1+u^q)^{\frac{2}{q}} \}$$

$$\begin{aligned}
 &= \frac{2u}{(1+u^2)^2} \left\{ \lambda (1+u^q)^{\frac{2}{q}-1} (u^{q-2} - 1) - (1+u^p)^{\frac{2}{p}-1} (1-u^{p-2}) \right\} \\
 &= \frac{2w}{(1+w^2)^2} (1+w^q)^{\frac{2}{q}-1} (w^2 - w^q) \left\{ \lambda - \frac{(1+w^p)^{\frac{2}{p}-1} (w^2 - w^p)}{(1+w^q)^{\frac{2}{q}-1} (w^q - w^2)} \right\}
 \end{aligned}$$

(i) If $0 < \lambda \leq \frac{(2-p)2^{\frac{2}{p}}}{(q-2)2^{\frac{2}{q}}}$, then $f'(u) > 0$ in $[0, 1]$ by Lemma 2.2 (ii), so $f(u)$ attains a maximum at $u = 1$ and a minimum at $u = 0$. Since

$$\begin{aligned}
 \frac{\psi_{p,q}^2(t)}{\psi_2^2(t)} &= \frac{(t^p + (1-t)^p)^{\frac{2}{p}} + \lambda (t^q + (1-t)^q)^{\frac{2}{q}}}{(t^2 + (1-t)^2)(1+\lambda)} \\
 &= \frac{(1+u^p)^{\frac{2}{p}} + \lambda (1+u^q)^{\frac{2}{q}}}{(1+u^2)(1+\lambda)},
 \end{aligned}$$

holds for $u = \frac{t}{1-t}$, and hence $\psi_{p,q}(t) \geq \psi_2(t)$ for any $0 \leq t \leq 1$. So Lemma 2.3 (i) and (iii) imply (2.1).

(ii) If $\frac{(2-p)2^{\frac{2}{p}}}{(q-2)2^{\frac{2}{q}}} < \lambda \leq \frac{2^{\frac{2}{p}-2}}{2-2^{\frac{2}{q}}}$, then $f'(u) > 0$ for $u \in (0, \frac{1}{v})$ (i.e $w \in (v, +\infty)$) and $f'(u) < 0$ for $u \in (\frac{1}{v}, 1)$ (i.e $w \in (1, v)$) by Lemma 2.2 (ii). Hence $f(u)$ attains a maximum at $u = \frac{1}{v}$ and a minimum 1 at $u = 0$, where v is the unique solution of (2.3). So Lemma 2.3 (i) implies

$$C_{NJ}(Z_{p,q}) = \frac{(1+v^p)^{\frac{2}{p}} + \lambda (1+v^q)^{\frac{2}{q}}}{(1+\lambda)(1+v^2)}.$$

Hence (2.2) is valid.

(iii) If $\frac{2^{\frac{2}{p}-2}}{2-2^{\frac{2}{q}}} \leq \lambda < \infty$, then $f(u)$ attains a maximum at $u = \frac{1}{v}$ again and a minimum at $u = 1$, where v is the unique solution of (2.3). So ψ/ψ_2 attains a minimum at $t = 1/2$, and hence we have

$$C_{NJ}(Z_{p,q}) = \frac{2[(1+v^p)^{\frac{2}{p}} + \lambda (1+v^q)^{\frac{2}{q}}]}{(2^{\frac{2}{p}} + \lambda 2^{\frac{2}{q}})(1+v^2)},$$

by Lemma 2.3 (ii). \square

For $q = \infty$, we can prove similarly that

THEOREM 2.2. *Let $\lambda > 0$, $1 \leq p < 2 < q = \infty$ and let $Z_{p,q} = \mathbb{R}^2$ endowed with the norm*

$$\|x\|_{p,q} = (\|x\|_p^2 + \lambda \|x\|_q^2)^{\frac{1}{2}}.$$

(i) If $0 < \lambda \leq 2^{\frac{2}{p}} - 2$, then

$$C_{NJ}(Z_{p,q}) = \frac{(1+v^p)^{\frac{2}{p}} + \lambda v^2}{(1+\lambda)(1+v^2)},$$

where v is the unique solution of the following equation

$$\lambda = \frac{(1 + v^p)^{\frac{2}{p}-1}(v^2 - v^p)}{v^2}. \quad (2.4)$$

(ii) If $2^{\frac{2}{p}} - 2 \leq \lambda < \infty$, then

$$C_{NJ}(Z_{p,q}) = \frac{2[(1 + v^p)^{\frac{2}{p}} + \lambda v^2]}{(2^{\frac{2}{p}} + \lambda)(1 + v^2)},$$

where v is also the unique solution of the equation (2.4).

In particular, we have

$$C_{NJ}(Z_{1,+\infty}) = \begin{cases} \frac{2+\lambda+\sqrt{\lambda^2+4}}{2(1+\lambda)} & \text{for } 0 < \lambda \leq 2; \\ \frac{2+\lambda+\sqrt{\lambda^2+4}}{4+\lambda} & \text{for } 2 \leq \lambda < \infty. \end{cases}$$

REFERENCES

- [1] J. ALOSNSO, P. MATRÍN AND P. L. PAPINI, *Wheeling around von Neumann-Jordan constant in Banach spaces*, *Studia Math.* **188** (2008), 135–152.
- [2] J. A. CLARKSON, *The von Neumann-Jordan constant for the Lebesgue space*, *Ann. of Math.* **38** (1937), 114–115.
- [3] J. GAO, *A Pythagorean approach in Banach spaces*, *J. Inequal. Appl.* (2006), Art. ID 94982, 41–56.
- [4] J. GAO AND K. S. LAU, *On the geometry of spheres in normed linear spaces*, *J. Aust. Math. Soc.* **48** (1990), 101–112.
- [5] J. GAO AND S. SAEJUNG, *Some geometric measures of spheres in Banach spaces*, *Appl. Math. Comput.* **214** (2009), 102–107.
- [6] M. KATO, L. MALIGRANDA AND Y. TAKAHASHI, *On James and Jordan-von Neumann constants and the normal structure coefficient of Banach spaces*, *Studia Math.* **144** (2001), 275–292.
- [7] F. F. BONSALL AND J. DUNCAN, *Numerical Ranges II*, Cambridge University Press, 1973.
- [8] H. MIZUGUCHI AND K.-S. SAITO, *Some geometric constants of absolute normalized norms on \mathbb{R}^2* , *Ann. Funct. Anal.* **2** (2011), 22–33.
- [9] K.-S. SATIO, M. KATO AND Y. TAKAHASHI, *Von Neumann-Jordan constant of absolute normalized norms on \mathbb{C}^2* , *J. Math. Anal. Appl.* **244**, 2 (2000), 515–532.
- [10] C. YANG AND F. WANG, *On a new geometric constant related to the von Neumann-Jordan constant*, *J. Math. Anal. Appl.* **324** (2006), 555–565.
- [11] C. YANG AND H. LI, *An inequality on Jordan-von Neumann constant and James constant on $Z_{p,q}$ space*, *J. Math. Inq.* **7**, 1 (2013), 97–102.
- [12] C. YANG AND H. LI, *An inequality between Jordan-von Neumann constant and James constant*, *Appl. Math. Lett.* **23**, 3 (2010), 277–281.

(Received January 9, 2014)

Changsen Yang
College of Mathematics and Information Science
Henan Normal University
Xinxiang 453007, P. R. China
e-mail: yangchangsen0991@sina.com